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INTEGRALS AND THEIR APPLICATIONS REVIEW

NO CALCULATOR
L The graph of f is shown at the left for 0 <x < 4. What is the value of
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2.  Which of the following integi‘als gives theilength lof the curve y=In x from x =1 to x = 2?
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Using the substitution u = x* -3 ,3 x(x2 - 3)5 dx is equal to which of the following?
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L thiee subdoterva -&nd dam from the table, what is Ehe approximation of the
in the fapk tume ¢t = 15 houres?
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6. Th graph of a differentiable function is shown. If
which of the following is true?
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7. ¥ The graph of f°‘, the derivative of a function f, consisits of
=2 1 .2 two line segments and a seimicircle, as show in the diagram.
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10. : The graph of the function f consists of two line segments. The
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12. ¥ The graph of f°, the derivative of f, is shown. If £(0) =20, what
could be the value of f(5)?
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13. The graph of the function f in the figure consists of four line
2 ] x
o segments. Let g be the function defined by g(x) = J. fe)de.
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2 MEsSs 7 8 Which of the following is an equation of the line tangent to the
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graphof g atx=15?
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15. ¥ The graph of the piecewise lmear function f is shown. What
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th l f |3 2}dx? -
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W}mt is the average value of y = Jeos x onthe interval 0 € x < % 2 /L(m_%g ')
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7. Let R be the region in the first quadrant bounded above by the graphof y = In{(3—x}, for 0 x £ 2. R is
the base of a solid for which each(&ss section perpendicular to the x-axis is@{a’%’hﬁt is the volume of

the sohd? _
(A} (1442 {(By 1.029 {C)y 1.296 {D3 3.233 (E} 4.071
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A particle moves along a line so that i(}r t 2@ iz given by alt) = 143 . If the particle’s
S Ve + 1

velocity at £ = 0 is 5, what is the velocity of the particle at f = 37
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19, The function # is differentiable, and for all values of X5 ih(x} &{2 x)& Whmh of the following statements
must be true? r\/\&\“‘mh@@u&

L [ hix)di >0 > 0=h (e 3 g
A (B} Ionly
PR =0 (Cy 1 only \(\ (\ \(\ (~1)

>0} = h(2) = 1 (D) Hand Il only /

\ - (E) Lil,and 11
W)= (2-0)() - wlg) -1) - 0-0o
O'(Wj waj e g%\iﬁ
What is the area of the region in the first quadrant enclosed by the graphs of y = sin{2x) and y% x
{Ay 0.208 (B) G;E;H) (C) 4266 (D) 0.660 (E} 0.835
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tegperature of 70 degrees Fahrenheit (°F). If the initial
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The table above gives selected values for a continuous function f. If f is increasing over the closed interval
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